REGULATION

10

11

12

D(1:2)

TESTED ACC. TO SS-EN 1317-2 (CONTAINMENT LEVEL H1)
ITEM 1.6 AND 114 CAN BE RELACED WITH FLANGE NUT

FACTORY PRODUCTION CONTROL ACC. SS-EN 131%-5
HOT DIP GALVANIZING ACC. TO SS-EN ISO 1461.

Sheet
1/2

Size
Edition

Al

: 50
Nordic M H1 v2

300000029_NO

Scale
1

2020-04-20

Date

Approved by

FS

AINE
I\

Nordic Road Safety AB

Checked by

Designed by

FS

122160270A
120120003
122120250
8012449
8012903

121120300
8012904
NOTE

M16x27
M12

M12x25
L=250
M12x30
L=400
4
DIM.

T

MAT.

8.8
S355
S355
8.8
S355
S235

DESCRIPTION

1.5 |[M16x27 BOLT WITH FLANGE NUT |4.6

1.7 |FLANGE NUT

1.8 |ROUND HEAD BOLT
1.10 M BRACKET C PROFIL
1.15 |POST LOOK

1.16 BOLT
1.17 |M FOUNDATION

1.19 |M TENSION BAND

ITEM

<t
— M N
O Mo m
Q| O T
AN AN AN | AN
Slo|olo
CcO (0O |00 | 0O
77\
o %o
O mM
N{CO (LN
[
RN [ R [ |
o|n o
AN AN
T (|
numouwm
w W%Hmwwwu
=
o
—
G s
T E RS
=z | ===
T
N_ —INM
L
(ol
N
& < 0C ¥00Z
]
Y =
v - — N
N 00€= E
[ - i e B
—w m & w@@mwlwvllllllllw
<
- 00b=
U_ Y% = oo S——— m
—
S
L
(an)] (an)]
! !
,_ ..} -~ g I
y
<4<t —
<
1
W al
<C
N~
—
LL]
>
M 00¢=
~
O o
J 7 i
b, | —{ -~ S ——— N - N ke e
[ =8 o ¢ | s o —
N |VUrWW,I\I\ImWI\I\I\I\I\I\I\I\I\I\I\I\IWIHIHILHIHIHIM.HHHHH\H\H\H\H\H\H\H\H\ N~~~
= 5 o p
2 o & ﬂ@
—]
3 — =i I
m m i ————— |2 e
Q iy (ol #=p
N_ 0Z F059 i ,\M\L\\\\\\\\\\\\\\\H\\HHHHH\HWHM - _—_—_—
e R ﬁ_N 0Z F00£ 008~
=
. » 0Z F 00/ B
WWWWW | :
L

APPR.| 1.18 |M POST WITH BASE PLATE
FS

DATE
2023-07-09

REVISION HISTORY

SHEET 1: VERSION WITH BASE PLATE ADDED.
SHEET 2: JOINT FOR QUICK OPENING ADDED.

REV |DESCRIPTION

1

10

RAISED STRUCTURE (1:10)

11

12






